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ECONOMICS
( Major )
Paper : 6.6

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7

e il enprRd T o

(a) Define economic planning.

ST AfResE S 7 |
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(b)

(c)

(d)

(e)

(g)

8A/851

(2)

Which plan accepted the strategy of
‘inclusive growth” for the first time?

QH RTTS ALRE AR e San’
I 2129 41 CafRe 2 ‘

What was the targeted growth rate of
India’s Twelfth Five-Year Plan?

SRS A AT ARewae Saee 3]
7 ey 4 4 3w 2

What do you mean by globalization?
TR o R g 2

What is the full form of OECD? -
OECD 3 5o b1 3 2

What is fncant by dependency burden?

fFEaMeren e 3P R qum 2

What is the literacy rate of Assam as
per 2011 Census?

2011WWWWWWW
ﬁmr?
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(3)

2. Answer the following questions : 2x4=8

were f PR e foran
(a) Mention two important causes of low
death rate in Assam.

SR o TP 2R 701 A4 PR BCEY 4|

(p) What is decentralized planning?

Reeiige ARew &2

(c) State the meaning of shifting

cultivation.

RS PR Tafel Sy o |

(d Mention any two needs of economic

planning in India.

SHeTs SAE ARTE T Al
Tras 91
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(4)

3. - Answer any three of the following questions :
' 5x3=15

wo7s firl e R e fofor Ted fo -

(a) Explain the basic objectives of economic

planning.
AT AREFHAR o TEPTIR I I

(b) Distinguish between Foreign Direct
Investment and Foreign Institutional

Investment.

sform (IR R SF S (e
fafcsR ~nefe for |

(c) Briefly discuss the composition of
foreign trade in India.

TR U AW A TIE TT
AT 347 |

(d) Discuss the impacts of globalization in
Indian economy.

TATY YNSRI SSIRNR
A 91 |
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(5)

(e) Give a comparative picture of the trend
of the growth rate of GDP in India and
Northeastern States.

SRe W Tet-dfiwe qEPR P I
T T T4 YRA oft g =R

wife &1
() Write the disadvantages of shifting
cultivation. -
TR $RT SRR
4. Answer the following questions : . - . 10x3=30
oo fi e Ted o

fa) Give an idea of the change in the
strategies and goals of Five-Year Plans
in the post-Liberalization period in
India. ' 10

TIAFAR 2[NS SRSy Ao
W@ﬁwmﬁﬁa@mqﬁmm
il 1

Or / 931

Do you think that India’s Five-Year
Plans are able to achieve the targets?
Give reasons for your answer. 10
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(b)

()
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(6)

SR Afes ofRFsarnz e T

. oS 27 ﬂﬁmiﬁ—ﬁwv (OMR TeIq

FAeF PR T

Discuss the trend of India’s foreign
trade before and after Liberalization.

TAAFIR {1 RIS FA SR (e

IR AR RE SEm 9940 |

Or / 9491

Mention the importance of Foreign
Direct Investment in India. Give an idea
of the growth of FDI inflows in India.

10

5+5=10

TSRO AOrF (e REESR g%y SEy
M| SRR gorw e R aares
?{ﬁagﬁmﬂﬁm

In what respect the economic
characteristics of North-East region is
different than that of the Indian
economy? Discuss.

Se-ofiwe R wtalde ez R Rwe

. SRS HYNSSLF %94 27 WA 947 |

10
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(7)

Or / 931

Analyze the factors affecting industrial
development of North-East India.
Suggest the measures for the progress
of industrialization in the region. 6+4=10

Teq-{19ed ST SIS FSR (AR | |
TMEPTY RemT 391 | @} Ww=dR S
ST IR R SIRCEAT |
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